.........................................................................
.........................................................................

Pileup

0.95

= RN S e P et O P a1 pOto 1pa
— Eé ;E:%s smgléfs‘émi?g.@épusrs Siepg E?Es%&s&s%g&gigﬁ
—— BRM-BIXEICPETSmBIalskHtERIsq aresl-3teRs—pHSs0-tathii31p4
g 0.5: : 8 U.Z[ : :
£ 045 e E e
S 0.4F ; B0 16t
= C ; c C
- il : - R S S SR ST
50'355 §0.14:
& 03f é i e AL L B R S
X C X - : +
80.25:— g O | L e R ELLLILLLR ARRRERERLLE + """"""""""
T 0.2F D008 oo g
5 F : s F 't
20.15F 5 ] R M M
0p] - n C
0.1 ; 10 71 USSR SUURSRRR: SUUSPORRNS SUORMSRRINS ORRRINNS RO
0.05f T S B
.9 J_.Lgf 1 1 ||||||: 1 ] 1 11 IE 1 1 ||||||: 1 1 1 11111 .9 _L.\_Q:I 1 1 1 : 1 1 1 1 : 1 1 1 1 ; 1 1 1 1 ; 1 1 1 1 : 1 1 1 1
5 F s 5 F -
' I -n'"'; o r : :
| T Lo L e % A
10 03T =2 1 0 1 2 3




	Contents
	Page 1


